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1. The length, breadth and height of a brick are

21 centimetres, 15 centimetres and 7

centimetres. What is its volume?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XmE2fcN0BhSF

° Watch Video Solution

2. A rectangular cube of iron is of side 8
centimetres. What is its volume? 1 cubic
centimetre of iron weighs 8 grams. What is the

weight of the large cube?

o Watch Video Solution

3. Awooden block of length. 8 centimetres and

breadth 4 centimetres, has a volume of 180


https://dl.doubtnut.com/l/_XmE2fcN0BhSF
https://dl.doubtnut.com/l/_tvHVQ8JoUv0D
https://dl.doubtnut.com/l/_F6LgSsTGnkR3

cubic centimetres. What is its height?

o Watch Video Solution

4. What is the area of a rectangle of length 8

centimetres and breadth 2 centimetres?

° Watch Video Solution

5. What is the volume of a rectangular block of
length 8 centimetres, breadth 2 centimetres

and height 1 centimetre?


https://dl.doubtnut.com/l/_F6LgSsTGnkR3
https://dl.doubtnut.com/l/_gCfyeFD1mTba
https://dl.doubtnut.com/l/_WjHzhxpUfCNT

° Watch Video Solution

6. How many cubes are there at the very
bottom?

And in the step Just above it?

How many cubes in all?

'(##VPU_TTT_MAT VI PO1 CO4 EO2 005 QOT1##)’

° View Text Solution



https://dl.doubtnut.com/l/_WjHzhxpUfCNT
https://dl.doubtnut.com/l/_WvSFmugAY8wZ

7. What is the volume of a rectangular block
of length 4 centimetre, breadth 3 centimetre

and height 1 centimetre?

o Watch Video Solution

8. If the length, breddth and height are

doubled, what happens to the volume?

° Watch Video Solution



https://dl.doubtnut.com/l/_v7zPJI6DjVum
https://dl.doubtnut.com/l/_yH1mR74mzWsW

9. Calculate the volumes of the figures shown
below. All'lengths are in centimetres."

'(##VPU_TTT_MAT VI PO1 CO4 E02 008 QOT##)’
'(##VPU TTT _MAT VI PO1 CO4 E02 008 QO2##)'

'(##VPU_TTT_MAT VI PO1 CO4 EO2 008 QO3##)’

o View Text Solution

10. What is the volume of a cube of side 1

metre?

o Watch Video Solution



https://dl.doubtnut.com/l/_TBcWMRCLlCRE
https://dl.doubtnut.com/l/_y7IJo1zQpyv3

11. A truck is loaded with sand, 4 metre long, 2
metre wide and 1 metre high. The price of 1
cubic metre of sand is 1000 rupees. What is

the price of this truck load?

o Watch Video Solution

12. What is the volume in cubic metres of a
platform 6 metre long, 1 metre wide and 50

centimetre high?

o Watch Video Solution



https://dl.doubtnut.com/l/_y7IJo1zQpyv3
https://dl.doubtnut.com/l/_aRY0xqSeyW6B
https://dl.doubtnut.com/l/_UdLOKtYUNkuH

13. What is the volume of a piece of wood
which is 4 metres long, 3 metre wide and 25
centimetre high? The price of 1 cubic metre of
wood is 60000 rupees. What is the price of

this piece of wood?

o Watch Video Solution

14. What is the capacity of a box whose inner

length, breadth and height are 50 centimetres,


https://dl.doubtnut.com/l/_UdLOKtYUNkuH
https://dl.doubtnut.com/l/_FIuPJcuS7jLK
https://dl.doubtnut.com/l/_ilKrwNRfwc4f

25 centimetres and 20 centimetres?

o Watch Video Solution

15. What is the capacity of a cubical vessel of

inner side 10 centimetres?

° Watch Video Solution

16. How many litres of water does a vessel of
length 2 centimetres, breadth 15 centimetres

and height 10 centimetres contain?


https://dl.doubtnut.com/l/_ilKrwNRfwc4f
https://dl.doubtnut.com/l/_WDLOhoJXr1iP
https://dl.doubtnut.com/l/_QpsHQMKy1oPc

° Watch Video Solution

17. A rectangular tank of length 4 metres and
height 25 metres can contain 15000 litres of

water. What is the breadth of the tank?

° Watch Video Solution

18. Now suppose this tank contalns 6000 litres

of water. What is the helght of the water?

o View Text Solution



https://dl.doubtnut.com/l/_QpsHQMKy1oPc
https://dl.doubtnut.com/l/_P9aIMKmKYNN0
https://dl.doubtnut.com/l/_sersZmES1Ip9

19. A vessel is filled with water. If a cube of side
1 centimetre is immersed into it, how many

cubic centimetre of water would overflow?

o Watch Video Solution

20. A swimming pool Is 25 metres long, 10
metres wide and 2 metre deep. It is half filled.

How many litres of water does it contain now?

o Watch Video Solution



https://dl.doubtnut.com/l/_sersZmES1Ip9
https://dl.doubtnut.com/l/_GEVczdHs7ZFe
https://dl.doubtnut.com/l/_a5Z3hwOz6rej

21. Suppose the water level is increased by 1
centimetre. How many more litres of water

does it contain now?

o View Text Solution

22. The inner sides of a cubical box are of
length 4 centimetres. What is its capacity?
How many cubes of side 2 centimetres can be

stacked inside it?

° Watch Video Solution



https://dl.doubtnut.com/l/_IHwSpLA8D16w
https://dl.doubtnut.com/l/_tP1zAa4OrUQ1

23.The inner side of a rectangular tank are 70
centimetres, 80 centimetres, 90 centlmetres.

How many litres of water can it contain?

o Watch Video Solution

24. The length and breadth of a rectangular
box are 90 centimetres and 40 centimetres. It
contains 180 'litres of water. How high is the

water level?

o Watch Video Solution



https://dl.doubtnut.com/l/_tP1zAa4OrUQ1
https://dl.doubtnut.com/l/_IrMJaaYOCugs
https://dl.doubtnut.com/l/_J5eKe8MYDc7P

25. The inner length, breadth an height of a
tank are 80 centimetres, 60 centimetres and 15
centimetres and it contains water 15
centimetre high. How much more water is

needed to fill it?

o Watch Video Solution

26. The panchayat decided to make a

'rectangutar pond. The length, breadth and


https://dl.doubtnut.com/l/_J5eKe8MYDc7P
https://dl.doubtnut.com/l/_mLyAzuGTsCWl
https://dl.doubtnut.com/l/_dRAh0osgK1uW

depth were declded to. be 20 metres, 15
metres and 2 metres. The soil dug out was
removed 'in a truck which can carry a load of
length 3 metres, breadth 2 metres and height
1 metre. How many truck loads of soil have to

be moved?

o Watch Video Solution

27. The inner length and breadth of an
aquarium are 60 centimetres and 30

centimetres. It is half filled with water. When a


https://dl.doubtnut.com/l/_dRAh0osgK1uW
https://dl.doubtnut.com/l/_ACk1Hfnrx8hJ

stone is immersed in it, the water level rose by
10 centimetres. What is the volume of the

stone?

o Watch Video Solution

28. A rectangular iron bloc has length 20
centimetres, breadth 10 centimetres and
height 5 centimetres. It is melted and recast
into a cube. What is the length of a side of this

cube?

o Watch Video Solution



https://dl.doubtnut.com/l/_ACk1Hfnrx8hJ
https://dl.doubtnut.com/l/_TJUI5niAAk94

1
29. A tank 25 metre long and 1 metre wide is
to contain 10000 litres. How high must be the

tank?

o Watch Video Solution

30. From the four corners of a square piece of
paper of side 12 centimetres, small squares of
side 1 centimetre are cut-off. The edges of this-
are bent up and jolned to form a container of

height 1 centimetre. What is the capacity of


https://dl.doubtnut.com/l/_TJUI5niAAk94
https://dl.doubtnut.com/l/_CXbfIA3yLfqw
https://dl.doubtnut.com/l/_tOTc1WEuJyLn

the container? If squares of side 2 centimetres

are cut off, what would be the capacity?

° Watch Video Solution

31.36 bricks are to be placed in layers. In what

all ways we can arrange them?

o Watch Video Solution

32. Cost of a cubical shaped cake having one

side 10 centimeter is 20 rupees. Cost of


https://dl.doubtnut.com/l/_tOTc1WEuJyLn
https://dl.doubtnut.com/l/_Sr4ZnONtCOuc
https://dl.doubtnut.com/l/_Zx9Mu69H5ATU

another cube shaped cake having one side 20
centimeter is 120 rupees. Which is more

profitable to buy? Why?

° Watch Video Solution

1
33. A tank having 25m length 1m breadth
and 1 metre height has full of water. From
this 225 litres of water was transferred to

another tank. How much water remains in the

tank?

° Watch Video Solution



https://dl.doubtnut.com/l/_Zx9Mu69H5ATU
https://dl.doubtnut.com/l/_sBhEAz2wT6pj

34. What is the volume of a cement block of

length 30 cm breadth 15cm and height 10 cm?

° Watch Video Solution

35. What is the volume of a rectangular block
of length 3 meters, breadth 2 meters and

height 1 metre?

° Watch Video Solution



https://dl.doubtnut.com/l/_sBhEAz2wT6pj
https://dl.doubtnut.com/l/_v2ClWvayQXWX
https://dl.doubtnut.com/l/_N3iXJVqa7PHT
https://dl.doubtnut.com/l/_tlwvPPhdduY8

36. The volume of a rectangular block is 420
cubic centimeters, its length is 12 centimeters
and breadth is 5 centimeters. What is its

height?

o Watch Video Solution

37. The length of an inner side of a cubical
vessel is 20 centimeters. How much water will

it contain?

o Watch Video Solution



https://dl.doubtnut.com/l/_tlwvPPhdduY8
https://dl.doubtnut.com/l/_I2ftgdEZzyaG
https://dl.doubtnut.com/l/_ancPwO8n6wic

38. All inner sides of a cubical vessel are 15
centimeters long. How many litres of water will

it contain?

o Watch Video Solution

39. 125 cubic centimetres means how much in

litres?

° Watch Video Solution



https://dl.doubtnut.com/l/_ancPwO8n6wic
https://dl.doubtnut.com/l/_GBpozMOBWfvr

40. What is the capacity of a cubical vessel of

inner sides 1 centimetre each?

° Watch Video Solution

41. A rectangular water tank has inner
dimensions 5 metres, 4 meters and 2 meters.

How many litres of water it contain?

° Watch Video Solution



https://dl.doubtnut.com/l/_zqLYAdM87JdM
https://dl.doubtnut.com/l/_Hf5H9fwzAh7r

42. A rectangular compost pit with length 3
metres, breadth 2 metres and depth 1 metre is
to be dug. How much earth is to be dug out to

make this pit?

o Watch Video Solution

43. A rectangular glass vessel has length 25
centimetres and breadth 16 centimetres. It
contains 3600 millilitres of oil. What is the

height of oil in the vessel?

| & I


https://dl.doubtnut.com/l/_ExEptbubzcky
https://dl.doubtnut.com/l/_V3QXl7tf4nsw

| ¥ Watch Video Solution |

44.The body of a lorry has length 8m, breadth
3m and height 1m. It is filled with cowdung. If
it is measured by a biscuit tin (without lid)
how many tin of cowdung does it contain?
What is the total cost, if one tin costs Rs. 157
The tin has a length of 20cm, breadth of 15cm

and height of 30cm

o Watch Video Solution



https://dl.doubtnut.com/l/_V3QXl7tf4nsw
https://dl.doubtnut.com/l/_pgF7WiFzhB8b

45. A sawn wood has the shape of a
rectangular block. Its length, breadth

and height are 3 m, 30 cm and 25 cm.
respectively.What will be the

cost if one cubic metre costs 2500 ?°

o Watch Video Solution

46. A person went to a bakery to buy a cubé
shaped cake with sides 10cms. There were

cube shaped cakes with sides 5¢m. How many


https://dl.doubtnut.com/l/_NJXJ2zcj6Y3P
https://dl.doubtnut.com/l/_CGDTgytL3PaG

5 cms cakes he should buy to get the same

quantity of 10cm. cakes?

° Watch Video Solution

47. A box of Halwa was bought for a Wedding
party. The length of the Halwa is 25cm,
breadth is 18¢cm and height is 16cm. If the
halwa is cut into small pieces measuring
4dem X 3em X 2em

how many pieces we will get?

° Watch Video Solution



https://dl.doubtnut.com/l/_CGDTgytL3PaG
https://dl.doubtnut.com/l/_vbfAb0QIRYUr

48. In the figure, a, big block is made by
stacking some unit cubes? How many unit
cubes are used?

'(##VPU_TTT_MAT VI PO1 CO4 E06 021 QO1##)’
How many unit cubes are needed to make a
block whose volume is half of the block in the

figure?

o View Text Solution



https://dl.doubtnut.com/l/_vbfAb0QIRYUr
https://dl.doubtnut.com/l/_HnSuXmXL7Qlo

49, In a school compost pit was dug as a part
of the observation of the world Environmental
Day. The length of the pit is 3 metres breadth
2 metres arid the depth is 5} metres. It was
decided to spread the soil dug out from the
pit in the newly built garden. The length of the
garden is 15 metres and breadth is 3 metres.
Inwhat height can the soil be spread in the

garden.

o Watch Video Solution



https://dl.doubtnut.com/l/_DZEam6oVwqhF
https://dl.doubtnut.com/l/_WOtk5Dyli8Kb

50. The Municipal Corporation decided to
build a swimming pool in the children's park.
Its length 15 metres, breadth is 5 meters and
depth is 5 metres. How much water is needed
fo fill the tank up to a level 3 metres from the

bottom. ( 1litre = 1000 cubic cm)

o Watch Video Solution



https://dl.doubtnut.com/l/_WOtk5Dyli8Kb

